20198 X Bl & FLA B O E oy A £ (AR (5 /ml)
H

X453 4 A 5 6 A 7 A
<1.4 —3.4 —5.4 —10.4—20.420.5< <3.4 =104 <14 —3.4 —5.4 —10.4—20.420.5< <3.4 =104 <1.4 —34 —54 —10.4—20.4205=<=<3.4 =104 <1.4 —3.4 —5.4 —10.4—20.4 20.5< <3.4 <10.4
Hi X (% &) (5 %) (% %) (% &)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B 96.2 1.9 1.9 98.1 100.0 93.8 6.2 100.0 100.0 100.0 100.0 100.0 98.5 1.5 100.0 100.0
2250 100.0 100.0 100.0 95.8 2.0 2.2 97.8 100.0 93.5 6.5 100.0 100.0 91.1 8.9 100.0 100.0
i 99.5 0.5 100.0 100.0 96.6 3.0 0.4 0.0 99.6 100.0 97.1 2.0 04 0.4 0.0 99.1 100.0 98.0 2.0 100.0 100.0
%k 98.4 1.6 100.0 100.0 99.8 0.2 100.0 100.0 100.0 100.0 100.0 96.9 3.1 100.0 100.0
picdiN| 96.4 3.6 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 96.7 3.3 100.0 100.0
b= 100.0 100.0 100.0 96.0 1.3 2.7 97.3 100.0 97.3 1.1 1.7 98.3 100.0 97.2 1.5 1.3 98.7 100.0
REAR 100.0 100.0 100.0 100.0 100.0 100.0 98.4 1.6 100.0 100.0 98.3 1.7 98.3 100.0
H & 100.0 100.0 100.0 98.9 1.1 98.9 100.0 100.0 100.0 100.0 99.0 1.0 100.0 100.0
5 98.7 1.3 100.0 100.0 98.6 1.3 0.1 99.9 100.0 98.7 1.2 0.1 0.1 0.1 99.8 99.9 983 1.4 0.2 0.1 0.0 0.0 99.6 99.9
B 98.6 1.2 0.1 0.2 99.7 100.0 97.2 2.1 0.7 99.3 100.0 97.1 2.6 0.2 99.8 100.0 96.0 3.0 0.5 0.5 98.9 100.0
R=E 97.9 1.6 0.3 0.1 0.1 99.5 99.9 98.8 1.2 100.0 100.0 98.4 1.3 0.1 0.1 0.1 99.7 999 98.0 1.6 0.4 0.1 99.6 100.0
Wt 98.0 1.3 0.5 0.1 0.1 99.3 99.9 97.3 2.3 0.3 0.1 99.6 99.9 979 15 0.1 0.1 0.3 99.4 99.7 98.0 1.6 0.1 0.3 0.0 99.6 100.0
SN 99.7 0.3 100.0 100.0 99.0 1.0 100.0 100.0 98.4 1.3 0.3 99.7 100.0 99.3 0.6 0.1 99.9 99.9
A 96.6 3.4 100.0 100.0 99.4 0.6 99.4 100.0 96.9 2.2 0.8 99.2 100.0 97.6 1.6 0.8 99.2 100.0
Sy 985 1.2 0.2 0.1 0.0 99.7 100.0 98.2 1.5 0.0 0.2 0.0 99.7 100.0 98.1 1.5 0.1 0.1 0.1 0.0 99.7 99.9 979 1.7 0.2 0.2 0.0 0.0 99.5 100.0
20184EE A 99.0 0.8 0.1 0.1 99.8 100.0 98.7 1.0 0.1 0.1 0.0 99.8 100.0 985 1.1 0.1 0.2 0.0 0.0 99.6 99.9 976 1.9 0.2 0.3 99.5 100.0
20174345 98.8 1.0 0.1 0.1 0.0 99.8 100.0 98.7 1.1 0.1 0.1 0.1 99.7 99.9 98.2 1.3 0.2 0.2 0.1 0.0 99.5 99.9 98.3 1.4 0.2 0.1 0.0 99.7 100.0
X5y 8 A 9 A 10 H 11 A
<1.4 —3.4 —5.4 —10.4—20.420.5< <3.4 =104 <14 —3.4 —5.4 —10.4—20.420.5< <3.4 =104 <1.4 —3.4 —54 —10.4—20.4205=< <34 =104 <1.4 —3.4 —5.4 —10.4—20.4 20.5< <3.4 <10.4
Hi X (% &) (5 %) (% %) (% &)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B 96.4 1.6 1.9 98.1 100.0 100.0 100.0 100.0 98.0 2.0 100.0 100.0 100.0 100.0 100.0
2250 100.0 100.0 100.0 96.1 3.9 100.0 100.0 96.3 3.7 100.0 100.0 100.0 100.0 100.0
i 96.5 3.5 100.0 100.0 98.4 1.6 100.0 100.0 99.2 0.8 100.0 100.0 97.8 1.6 0.3 0.3 99.3 100.0
%k 98.1 1.9 100.0 100.0 97.1 2.9 100.0 100.0 100.0 100.0 100.0 98.6 1.4 100.0 100.0
picdi| 100.0 0.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 94.0 6.0 100.0 100.0
B 97.4 1.3 1.3 98.7 100.0 100.0 100.0 100.0 98.8 1.2 100.0 100.0 100.0 100.0 100.0
REAR 98.3 1.7 100.0 100.0 100.0 0.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
H & 97.3 1.4 1.3 98.7 98.7 98.9 1.1 100.0 100.0 99.2 0.8 100.0 100.0 98.5 1.5 98.5 98.5
|5 97.7 1.9 0.1 0.3 99.6 100.0 98.6 1.4 0.1 99.9 100.0 98.3 1.4 0.2 0.1 99.7 100.0 99.2 0.7 0.1 99.9 100.0
B 96.0 3.4 0.3 0.2 0.1 99.4 999 96.7 2.7 0.3 0.3 99.4 100.0 97.7 15 0.2 0.4 0.1 99.2 99.9 985 1.4 0.1 99.9 100.0
R=E 98.0 1.6 0.2 0.2 0.1 99.5 999 975 14 0.8 0.3 98.9 100.0 98.1 1.4 0.3 0.2 99.5 100.0 98.5 1.1 0.3 0.1 99.6 100.0
Wt 96.9 2.3 0.5 0.3 99.2 100.0 96.4 2.6 0.5 0.5 99.0 100.0 97.7 1.9 0.3 0.1 99.6 100.0 98.5 1.1 0.0 0.4 99.6 100.0
SN 99.2 0.5 0.2 99.8 100.0 99.0 1.0 100.0 100.0 100.0 100.0 100.0 99.4 0.6 100.0 100.0
L] 97.0 3.0 100.0 100.0 97.7 2.3 100.0 100.0 99.3 0.7 100.0 100.0 99.5 0.5 100.0100.0
Ly 97.5 2.1 0.2 0.2 0.0 99.5 100.0 97.8 1.7 0.3 0.2 99.5 100.0 98.3 1.3 0.2 0.2 0.0 99.6 100.0 98.8 1.0 0.1 0.1 0.0 99.7 100.0
20184 SR 98.0 1.6 0.2 0.2 0.0 0.0 99.5 100.0 98.0 1.5 0.2 0.2 0.1 99.5 99.9 986 1.1 0.1 0.1 0.1 99.7 99.9 98.7 1.1 0.1 0.1 0.0 99.8 100.0

201 TR 98.2 1.2 0.2 0.3 0.1 99.5 999 986 1.0 0.2 0.2 99.6_100.0 985 1.1 0.2 0.1 0.0 0.0 996 99.9 988 1.1 0.1 0.1 99.8 100.0




20198 X Bl & FLA B O E oy A £ (AR (5 /ml)
H

X4y 12 A 1 2 A 3 A
<14 —34 —5.4 —10.4—20.420.5= <34 =104 <1.4 —3.4 —5.4 —10.4—20.4205= <34 =104 <14 —3.4 —54 —10.4—20.420.5= =34 =104 =14 —3.4 —54 —10.4—20.4 20.5= <3.4 =10.4
X (& %) (% %) (% %) (& %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
HIE 100.0 100.0 100.0 100.0 100.0 100.0 98.0 2.0 100.0 100.0 98.2 1.8 100.0 100.0
2250 100.0 100.0 100.0 94.4 3.7 1.8 98.2 100.0 96.5 3.5 100.0 100.0 95.6 4.4 100.0 100.0
B 96.8 3.2 100.0 100.0 97.7 2.3 0.0 0.0 100.0 100.0 98.8 0.8 0.4 99.6 100.0 97.8 2.2 0.0 100.0 100.0
f’#f\ 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
Fer L 97.7 2.3 100.0 100.0 97.5 2.5 100.0 100.0 90.5 6.6 3.0 97.0 100.0 100.0 100.0 100.0
YE% 100.0 100.0 100.0 100.0 100.0 100.0 98.8 1.2 100.0 100.0 100.0 100.0 100.0
JilE 98.7 1.3 100.0 100.0 100.0 0.0 100.0 100.0 99.7 0.1 0.2 99.8 100.0 98.7 1.3 100.0 100.0
H & 98.9 1.1 100.0 100.0 96.5 2.5 1.0 99.0 99.0 97.6 1.4 1.0 99.0 100.0 99.0 1.0 100.0 100.0
i 985 1.2 0.1 0.1 0.1 99.7 99.9 98.7 1.2 0.1 0.0 99.9 100.0 98.4 1.4 0.1 99.9 100.0 98.5 1.1 0.2 0.1 0.1 99.6 99.9
BN 98.7 1.3 100.0 100.0 98.7 1.1 0.1 0.1 99.8 99.9 98.6 1.3 0.2 99.8 100.0 98.0 1.8 0.1 99.9 99.9
IR 98.5 1.4 0.1 99.9 100.0 98.6 1.1 0.1 0.1 0.1 99.7 99.9 97.5 2.2 0.2 0.1 99.7 100.0 98.8 1.1 0.1 0.1 99.9 100.0
fEE 98.7 1.1 0.2 99.8 100.0 97.4 2.3 0.1 0.1 99.7 100.0 96.2 2.3 0.3 0.7 0.4 98.5 99.6 98.0 1.2 0.2 0.5 99.2 100.0
A 99.2 0.8 100.0 100.0 99.5 0.3 0.2 99.8 99.8 99.2 0.8 100.0 100.0 98.4 1.6 100.0 100.0
el 99.3 0.7 100.0 100.0 99.3 0.7 100.0 100.0 98.4 0.8 0.7 99.3 100.0 97.3 2.7 100.0100.0
S ¥y 986 1.3 0.1 0.1 0.0 99.9 100.0 98.5 1.3 0.1 0.1 0.0 0.0 99.8 99.9 98.0 1.6 0.2 0.1 0.1 99.6 99.9 984 1.3 0.1 0. 0.0 0.0 99.7 100.0
20184 EHEHE 98.7 1.0 0.2 0.0 0.0 99.7 100.0 98.2 1.5 0.1 0.1 0.0 0.0 99.7 999 986 1.2 0.1 0.0 0.0 99.8 100.0 98.8 1.0 0.1 0.1 99.8 100.0
201745945 98.3 1.3 0.1 0.2 0.0 0.0 99.7 99.9 98.8 1.0 0.2 0.1 99.7 100.0 98.8 1.1 0.1 0.1 0.0 99.9 100.0 98.6 1.2 0.1 0.1 0.0 99.8 100.0
X5y ¥ (48 ~3H)
<14 —3.4 —54 —10.4—20.4 20.5= <3.4 =10.4
X (& %)
% % % % % % % %
HHF 98.3 1.4 0.3 99.7 100.0
2250 96.6 3.1 0.3 99.7 100.0
B 979 19 0.1 0.1 0.0 99.8 100.0
#®%i& 99.1 0.9 100.0 100.0
Fer L 97.8 2.0 0.2 99.8 100.0
B 98.8 0.6 0.1 0.4 99.4 100.0
JilE 99.3 0.5 0.1 0.0 99.8 100.0
HE 98.7 09 0.1 0.1 0.3 99.5 99.7
- 985 1.3 0.1 0.1 0.0 0.0 99.8 100.0
B[S 976 19 0.1 0.2 0.0 99.6 100.0
IR 98.2 1.4 0.2 0.1 0.0 0.0 99.6 100.0
W 976 1.8 0.2 0.3 0.1 99.4 99.9
TR 99.2 0.7 0.0 0.0 99.9 100.0
el 98.2 1.6 0.1 0.1 99.8 100.0

¥ 982 15 0.2 0.1 0.0 0.0 99.7 100.0
20184 EEERK 98.4 1.2 0.1 0.1 0.0 0.0 99.7 100.0
20174 EF4% 98.5 1.1 0.2 0.1 0.0 0.0 99.7 100.0




